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1. o RPEPmRe *[9 8 el AR Sfeeat :  1x8=8

Choose the correct answer from the following
alternatives :

(@) TFF (O] FRATTS O 27 2

Which one of the following is not
quantitative data?

(i) & [ET @&
Weight of a person
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(2)

(i) SETe PrRag form

Sex of newborn babies

(iii) 2fScor «iREER Biex 22

Number of persons per family

(iv) T[S RITS AR o9 771
Percentage of marks in English

(b) <O ST ST I I =W, IW
A distribution is said to be skewed, if
(A L = JGAI = IETP
- mean = median = mode
(i) NG # SIW # I8P
mean # median # mode
(iii) G = FGAT = I <O

mean = median = mode <O

(iv) 5 = NG = T = O
mean = median = mode =0

€ 7O TR Roam el FRAET IO A
xR :
For comparing variability of two series,
one should calculate

(i) TT=2FF [ARF
coefficient of correlation
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(3)

(ii) TRo39 BP

coefficient of variation
(iii) DI RO

quartile deviation
(iv) S{-SPHeIF AT

semi-interquartile range

[d) @ES’FMHF IBT A
For a leptokurtic distribution
(i) By >3
(i) By <3
(ii) By =3
(iv) B, =0

(e) «b1 IGTI SR POLF GF |
The second quartile of a distribution is
same as the

(i) R TS
second decile
(i) SO
median
(i) XESH *TOIR*P
25th percentile
(iv) 4¢SSy O
75th percentile
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(4)

(N I ANFI® AT B ~RR =R

Karl Pearson’s coefficient of skewness
ranges from '

(i) 09 °{l
O to =

(@) —13 °{0 +1
-1 to +1

(i) -39 <91 +3
-3 to +3

(iv) —ooF S +o0
—oco tO +oo

(@) I (If) 7,y >0 R (then)
(i) cov(X,Y)=0
(i) cov(X,Y)<O
(ifi) cov(X, Y)>0
(iv) cov(X, Y) = (050 ,)

(h) A ¥ B Tl N IFCT b8 G IR
()

In case of two attributes A and B, the
ultimate class frequency is

@) (A)
(@) (AB)
(@) ()
(v) (B)
P25/507 ( Continued )
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2. fpey T R 4%4=16

Answer in brief :

(@) TAEIR TS AlRfET O N S &S
127 RO 41 |

Distinguish = between primary and
secondary data with examples.

(b) A @R @ 961 RIS 3BT PR IHE
(5157 B ) e | -\ B 6 R
IR |

Show that for any discrete distribution,
standard deviation is not less than
mean deviation from mean.

(c) oI e TERT RET G (R
3X+2Y =26 W 6X+Y =31 ryyd TA

Sfereq |

Two random variables have the
regression lines 3X+2Y =26 and
6X +Y =31. Find ryy .

(d) oT© Il SRR w1 IRZE 91 (89 A) HF
Qe HEE @R (89 B) 3000 & E@&F
G I R | TR RAAN NFI A
Tfeed W oNE I A3
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The following table shows 3000 cases
classified according to medicine used
(attribute A) and attacked by disease
(attribute B).' Determine the Yule’s
coefficient of association and state your
conclusion :

B Not B

A 20 | 780

Not A | 220 1980

3. (@) ~ARIRE oY et e SlfFeRd I
? =07 IR OIfeR TogreRE e &
CTY IR 0 W 2 G PR AfSCoH R
BYLF I T 1 3+3+3=9

What do you mean by classification
and tabulation of statistical data? What
are the graphs that are used for
presenting a frequency distribution?
Discuss each of them briefly.

ST / Or

(b) =R REFe JE @A RiSH 999 PR
SCATAT 341 | 9

Discuss the different types of
measurement scale used in Statistics.
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(7))

QIR RIS zqae A4 3fercat
M = HM. 3+3=6

geometric
Prove that

4. (a) >TEEI T,
5 o2 RS T AM =G
Define arithmetic mean,
mean and harmonic mearn.
AM > GM = HM.

%341/ Or

p) Roea Fea & =72
TRere SeEy I P
T Rl i R CUSURLIRALE
What is dispersion? Write the nar.nes
of different measures of dispersion.
Explain the main difference between
mean deviation and standard deviation.

R MRS
Qoo Se AP
2+2+2=6

5. (a) ﬁwmmsm@qﬁzﬂﬁ{@?
ZI'SIT"TW@W@WW—IW 15
o AP | 2+6=8
What do you mean by correlation

coefficient between two variables?
Prove that the correlation coefficient

lies between —1 and 1.

(b) =99 T @ [l OFOF vES TEwS RATN

BIRF U | 3
Prove that the correlation between two
independent variables is z€ero.
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6. (a)

(b)
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(8)

WOl @ A SF B B¢ FRAY 58742 SeA
I eA @, I

State the conditions of consistency for
two attributes A and B. Show that, if

(ilv)=x, %=2x, —(%)=3JCW(and)

(AB) _(BC) _(CA) _
N N N

1
\O =
R x N1 y I I 4\92?(5 T[Eq 27 | U6)

then the value of neither x nor y can

exceed l
4

Y2471 /Or

W B FOA AR REE A AT
RN [? RABN BN Q SF S[F=AT
BIRF Y I FE¢ (Al FF=cs] Afos! 1 ¢
4+6=10

When are two attributes said to
be positively associated and negatively
associated? Establish the following
relation between coefficient of
association @ and coefficient of
colligation Y :

>
U s 4
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( Old Course )

Full Marks : 80
Time : 3 hours

1. O RESTRY 1 o Teach IR Sfoveq : 1x8=8

Choose the correct answer from the following
alternatives -

(@) SR GICE WS B 7= 2

Which one of the following is not
quantitative data?

() 9= IR ey
Weight of a person

(i) oS Freq. forx
Sex of newborn babies

(iii) AT ~Rarey IR T
Number of persons per family

(iv) FE RF© HRT >3 797
Percentage of marks in English

(b) 1 IS e I o =, A
A distribution is said to be skewed, if
() R0 = FGA = IZTF

mean = median = mode
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(1) ] # AT # ISP
mean # median # mode

(W) W = TP = I5F <0
mean = median = mode <0

(iv) NG = YT = IZ=F = O
mean = median = mode =0

(c) T FRPR Roem gom R J370
(6363

For comparing variability of two series,
one should calculate

(i) STER BT

coefficient of correlation
(ii) oI BT
coefficient of variation
(i) DI [Roei
quartile deviation
(iv) S-=BoeF AT
semi-interquartile range
(d) @A IHNT IS
For a leptokurtic distribution
) B2 >3
@) B <3
(@ B, =3
fiv) B, =0
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The secong quartile of a distribution is

Se€cond decijle
(@) g
median
(i) XN M
2Sth Percentile
7Sth Percentile

1)) W%Wwaﬁm:;;@m@?ﬂﬁmm

i ss
Karl Pear Son’s coefficient of skewne
ranges from

() O3 *{l oo
0t0°o

(@) —13 *_7 +1
-1 to +1

(@) —39 *R/1 +3
—3 to +3

—oo {0 +
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(@) I (If) Ty >0 cwrri’zaf (then)
() cov(x, V7)) =
(@) cov(x, v) <o
(@) cov(x, v)>o0
() cov (x, Y)=—(cx0y)
) A AF B 00l @R SR poE el IREARS
(£33
In case of two attributes A and B, the
ultimate class frequency is
(W) (A)
(@) (AB)
() (o)
(iv) (B)
2. Nre T3 By - 4x4=16
Answer in brief -
(@ TI_R e OxFT W AT s3I’ TR
R ReR == 1
Distinguish berween primary and
Secondary data with examples.
) RsEaER < 1o ‘:'%"'«""?*""3:" W"‘"‘ z
(SN 1
{ Continued }
PT257/S07
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Show that for any discrete distribution,
standard deviation is not less than
mean deviation from mean.

(© ToI IR TeAed AR RHEE CZR
3X+2Y =26 WF 6X+Y =31 rxyI T
Tferean |

Two random variables have the
regression lines 3X +2Y =26 and
6X +Y =31. Find ryy -

([d) TS fra ARARE 7ol I92E I (87 A) E
QTS S@E @dl (89 B) 3000 & QEIF
CIARR I CR | FEN RPN BRI A
Sfee W comE 99 A ¢

The following table shows 3000 cases
classified according to medicine used
(attribute A) and attacked by disease
(attribute B). Determine the Yule’s
coefficient of association and state your

conclusion :
B Not B
A 20 780
Not A | 220 1980
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P25/507

(14 )

MR S o e wifererese LA
R g0 IRARS! S S FRe [
G R <991 =0 7 % PR oo e
W?WW| 3+3+3=9

What do you mean by classification
and tabulation of statistical data? What
are the graphs that are used for
Presenting a frequency distribution?
Discuss each of them briefly.

¥<T / Or

PR e 9= R Rfw 497 MPFR
SICAOT 0 | 9

Discuss the different types of
measurement scale used in Statistics.

SRS N1, GCTET NP S [EF T AT
¥ 32 (ys @ AM>GM =HM.  3+37

Define arithmetic mean, geometric
mean and harmonic mean. Prove that

AM = GM = HM.

( Continued )
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5. (@

®)
P25/S07

R R}
( 15 ) )

Y51/ Or

Rewt e B qwo Rewam TR
TR Tray |1 s R[oem SWF TGP
fReeT TR ~nefemrz ron 3+ | 2+2+2=6

What is dispersion? Write the names
of different measures of dispersion.
Explain the main difference between
mean deviation and standard deviation.

WOl o WER HDTIE BNE Ifere [ TH 2
SN IR @ HTFE BNRI AF —1 F 19
TSSO ACS | 2+6=8

What do you mean by correlation
coefficient between two variables?
Prove that the correlation coefficient
lies between —1 and 1.

AT N @ Wl Fog ed Awd RTIA
QT 7 | 5

Prove that the correlation between two
Independent variables is zero.
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4
6. (a) ‘I?:'T@‘TAWB?W‘TSRWWW
01 s @, I

consistency for

State the conditions of ?
at, if

two attributes A and B. Show th

m—)zx, .(B;);—Qx’ Q:SXW(and)
N N N

w=<T / Or

(b) I B oW AT TR THF  AMEAP
SR W2 RN BNF Q HF ST
QIRF Y I T FAfRS o AT F7 -

2+6=8
When are two attributes said to
be positively associated and negatively
associated? Establish the following
relation between coefficient of
association Q@ and coefficient of
colligation Y :

|
|
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7. (@) oS fr IGehw e (i) OTOLF SIS o
SIF (i) OrotE S (@R e ST T i
SIF O o/ TR A 7 5+5+5=
For the following distribution, draw
(1) more than ogive and (i) less tht;I;
Ogive jointly and hence find

median .
TMGTRE 531 AT TR

| Weekly wages No. of workers
| 2040 8
40-60 12
60-80 20
80-100 30
100-120 40
120-140 35
140-160 7
160-180 7
180—200 S

3211/ Or

®) @ I B I were frm AR ST
TR YfeT A oW 2, f&oE S s
TR (FHF g I e I ¢
Find the first, second and
third central moments from the
following values of first three raw
moments obtained from a frequency
distribution :

ny =-1-506, p5 =17-120, pj =-30-423
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(i) =R @ e e IR I
Toe fR wR ARl ETEE BIRT e

Define regression coefficient. Show that
the geometric mean of two regression
coefficients become equal to the
correlation coefficient. Show that the
regression coefficients are affected due
to change of scale.

P25/507 ( Continued )

?qT . 7
Calculate  the  coefficient  ©of
correlation from the following
data by the Spearman’s rank
difference method :
bR 77 (5°7) 213 377 (577°) 1
Price of tea () Price of coffee 63) "
75 120 |
88 134 |
95 150
70 115 |
' 60 110 ~ 1
80 140 :
81 142 g
S0 inai, 100 (
8. (@) SRR M2o[ >R Al | (TYSAT  FARIAT 720
TR SIS 1Y ST S=0F W | Or&dl &
RRY ARSI [0 SR =2eE T 2ASRIES
AL 1+2+2=5



(b) BT TR 7 R @ A R
CAral a’a

A frequency distribution gives the

following results :
(i) S =17-4
Median =17 -4
(ii) 9%9F =155
Mode =15:5
(iii) AvTA e @4 =035

Pearson’s coefficient of skewness
=0-:35

o9 wees Hefa 41 |

Calculate the coefficient of variation.

* K A
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